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1. FIHEBEHOHER XRMFAE % T B (N)
H27 4£ H28 4 fE | H29 4 FE || H30 4E JF R1 4 & T4 FE b
B 0 T 54, 458 50, 860 48, 633 45,270 47, 345 105%
/N - R, 12,621 12, 688 13, 460 13,610 13,514 99%
L3 - FrgR g 18, 635 18,073 17, 695 16,420 16, 324 99%
SR« Fuig ok 11,921 12, 488 11,093 11,512 10, 767 94%
& F 97, 635 94, 109 90, 881 86,812 87, 950 101%
H30 NS —H/L— MR OF A YO L E L HE
B i1 3 76 R CLEAL— bW E, EEL— O — K1k
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i e EAT R Iz A 1853 I 3 R 1YY 1YY
- (FH) (F 1) (TH) (%) AEB (N | @ (1)
o H30 27, 429 5,405 | A22,024 19.7 17.2 606
B o A 70
R1 27,931 5,567 | A22,363 19.9 18. 2 590
H30 6,591 1,476 A5, 114 22. 4 5.8 484
/N - R0
R1 6,711 1, 447 A5, 263 21.5 5.8 497
n H30 11, 842 1,737 A10,105 14.7 8.0 721
(L1 « i oR o g
R1 12, 058 1,732 A10,326 14.3 8.1 739
‘ H30 9, 862 1, 444 A8, 418 14. 6 4.9 857
Feld « Fngrh o
R1 10, 042 1,339 A8, 702 13.3 4.6 933
) H30 55,724 10,062 | A45,662 18. 0 — —
&
R1 58, 126 10,087 | A 46, 656 17.3 — —
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1. FIAEFEZHOHE B (A)
H27 4 | H28 £ | H29 4E £ | H30 4F | R1 4L | A4 ke
LRI — b 5,245 3,848 3,913 4,597 4,405 96%
BEL— 12,024 12,866 13,580 11,819 11,726 99%
I 496 443 505 593 547 92%
At 17,765 17,157 17,998 17,009 16,678 98%
2 . ISR
- AT % YN I 32 WX [ 1ESY | 1{ESDY
(T 1) (F 1) (F 1) (%) ANE (N) | #H (1)
H30 11,157 660 | A 10,497 5.9 1.3 2,427
R E L — K
R1 11,429 632 | A10,797 5.5 1.2 2,595
e H30 5,926 2,096 | A3,830 35.4 2.7 501
R1 6,071 2,060 | A4,011 33.9 2.7 518
H30 1,536 76 | A1,460 4.9 0.4 2,590
WHEL— b
R1 1,574 70| A1,504 4.4 0.4 2,876
. H30 18,619 2,832 | A15,787 15.2 — —
o R1 19,074 2,762 | A16,312 14.5 - -
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1. FMIREBZEHOHER B ()
H27 # % | H28 # /% | H29 /% | H30 /% | R14FJE | A&
PE L — R 2,075 1,496 1,420 1,940 1,000 52%
v — 381 360 305 330 300 91%
fER L — K 6,467 5,587 6,467 6,467 6,250 97%
At 8,923 7,443 7,652 8,899 7,550 85%
2. PSR
b AT R I A I 3¢ I [ 1HEHY | 14D
(TH) (TH) (1) (%) ANE (N) | &M (H)
T H30 7,327 2,097 | A5,230 28.6 0.9 1,380
Rl — b | R1 7,891 1,936 | A 5,955 24.5 1.0 1,347
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